
(1)     27.6 + 2.8 = 3.04 (11)   12.6 - 5.3 = 73 

(2)     1.02 + 7.9 = 18.1 (12)   1.83 - 7.8 = 10.5 

(3)     8.64 + 29.3 = 11.57 (13)   24.2 - 1.76 = 6.6 

(4)     6.32 + 9.4 = 1.572 (14)   15.4 - 4.73 = 1.067 

(5)     1.54 + 1.74 = 17.14 (15)   3.4 × 5.6 = 190.4 

(6)     2.83 + 4.56 = 48.43 (16)   2.7 × 8.9 = 240.3 

(7)     8.16 + 8.16 = 89.76 (17)   1.91 × 6.5 = 124.15 

(8)     7.43 + 19.7 = 94 (18)   1.64 × 3.7 = 60.68 

(9)     24 + 18.6 = 426 (19)   105.4 ÷ 6.2 = 1.7 

(10)   5.41 + 87 = 14.11 (20)   18.096 ÷ 58 = 3.12 

In each of the following sums, one (and only one) of the 
decimal points has been put in the wrong place.  Re-write 

each the sums correctly and underline the decimal point that 
has been moved. 

In each of the following sums, one (and only one) of the 
decimal points has been put in the wrong place.  Re-write 

each the sums correctly and underline the decimal point that 
has been moved. 

(1)     4.68 + 9.2 = 4.772 (11)   24.2 - 1.76 = 6.6 

(2)     6.7 + 3.48 = 3.547 (12)   15.4 - 4.73 = 1.067 

(3)     0.47 + 8.92 = 0.939 (13)   1.63 - 0.42 = 15.88 

(4)     5.17 + 9.8 = 6.15 (14)   271 - 14.22 = 128.78 

(5)     2.67 + 41.3 = 4.397 (15)   2.7 × 8.9 = 240.3 

(6)     38.2 + 92 = 39.12 (16)   1.91 × 6.5 = 124.15 

(7)     16 + 26 = 16.26 (17)   0.67 × 0.54 = 36.18 

(8)     47 + 15 = 15.47 (18)   14.2 × 12 = 1704 

(9)     0.23 + 3.4 = 34.23 (19)   2.73 ÷ 3.9 = 7 

(10)   1.6 + 0.81 = 16.81 (20)   212.42 ÷ 8.17 = 2.6 
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